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NORMALIZATION PROCEDURE FOR PREPARATION OF RESULT OF CETs
CONDUCTED FOR COMPETITIVE EXAM PRE-TRAINING SCHEMES - 2024-25 BY
TRTI, BARTI, SARTHI AND MAHAJYOTI

Process of Normalization

Percentile Scores: This process will be used for Normalisation of scores for
candidates who have appeared for Common Entrance Tests (CETs) that are
conducted in multiple shifts.

e Percentile scores are the relative performance of all those who appear for the
examination.

e The marks obtained are transformed into a scale ranging from 100 to O for each group
(shift) of examinees.

e The Percentile Score indicates the percentage of candidates that have scored EQUAL TO
OR BELOW (same or lower raw scores) that particular Percentile in that examination.

e Therefore, the topper (highest score) of each group (shift) will get the same Percentile of
100, which is desirable.

e The marks obtained between the highest and lowest scores are converted to appropriate
Percentiles.

The Percentile score is the Normalized Score for the examination.

The Percentile Scores will be calculated to 7 decimal places to avoid the bunching effect and
reduce ties.

In this method of scoring, the HIGHEST SCORE in each paper (irrespective of the raw
scores/percentage obtained) will be the 100 Percentile indicating that 100% of candidates have
scored equal to or lesser than the highest scorer/ topper for that shift.

For example, in Shift 1, if the highest score is 80%; in Shift 2, if the highest score is 82%; in Shift 3,
if the highest score is 78%; and in shift 4, if the highest score is 79%, all the highest scores would
be normalized to 100 Percentile for their respective group/shift.

The lowest score would have a percentile depending on the total number of candidates who have
taken the examination. Suppose, 1,00,000 students have taken the test in a Shift and the highest
Score (A) for that group/shift is 80 / 100 (80%), and the lowest Score (B) is 1/ 100 (1%). If no other
candidate has scores equal to either A or B, then the Percentile Score of A, the top scorer, shall
be 100 [because all or 100% of candidates have scored EQUAL TO OR LESS THAN A]. The Percentile
Score of B, the lowest scorer, shall be 0.001 since the percentage of candidates with scores EQUAL
TO OR BELOW would be 0.001 = [(1/100000) *100].

If a candidate (C) had a raw score similar to A, then both A and C would have a Percentile Score
of 100. Similarly, if another candidate (D) had a raw score equal to that of B, then both B and D
would have a Percentile score of 0.002 = [(2/100000) *100]. Ties would therefore have similar
Percentiles.

The following three pointers further explain the interpretation of the percentile scores in an
examination (such as one shift) with 100 candidates.
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1. If candidate A's Percentile score is 100, then all who have taken the examination, 100%,
have scored either EQUAL TO OR LESS THAN candidate A. It also indicates that no
candidate has achieved more than candidate A.

2. If candidate B's Percentile score is 90, it indicates that 90% of the candidates who have
taken the examination have scored either EQUAL TO OR LESS than candidate B. It also
demonstrates that the remaining candidates have achieved more than candidate B.

3. If candidate E's Percentile score is 1, it indicates that none of the candidates who have
taken the examination has scored either EQUAL TO OR LESS than candidate E. It also
shows that all remaining candidates who took the test scored more than this candidate.

Process of Normalisation for Examination consisting of single paper/subject in the
examination scheme & conducted in Multiple Shifts:
The examination results for each shift will be prepared in the form of:

e Raw Scores i.e. actual marks obtained by the candidate
e Percentiles
Percentiles (up to 7 decimal places) for the raw score shall be calculated.

e The overall merit/ranking shall be based on the Percentile score of the Raw score (Raw
score is actual obtained marks of the candidate). The Percentile scores for all the shifts,
would be merged and arranged so as to derive an overall Merit List / Ranking.

e The method adopted for breaking ties (similar Percentiles) shall be based on Age, i.e., the
candidate older by age will be ranked higher. In case of a tie at percentile score as well as
Age (Date of Birth), 15t Alphabet of the name of the candidate will be used in ascending
order of the English Alphabets to break the tie.

lllustration:
Consider an exam with single paper/subject conducted in Multiple Shifts.

Let T denote the raw marks obtained by a candidate:

100 X No. of candidates from the group with TOTAL MARKS<T
No. of candidates in the group / shift

Total Percentile (TP):
With the formula shown above only 1 percentile will be calculated for each student.
Example of a hypothetical scenario in the preparation of Overall Ranking / Merit:

1. Assume that the exam is conducted in 4 shifts, and there are 100000 candidates in each shift,
then the Hypothetical percentile calculations would be:

PERCENTILE : SHIFT 1 PERCENTILE : SHIFT 2

ROLL NO TOTAL ROLL NO TOTAL
S$1015 100.0000000 S2050 100.0000000
S$1020 99.9872385 S2035 100.0000000
S1050 99.9872345 $2020 99.9872355
S1001 0.0010000 S2041 0.0010000
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PERCENTILE : SHIFT 3 PERCENTILE : SHIFT 4

ROLLNO TOTAL ROLLNO TOTAL
$3105 100.0000000 $4240 100.0000000
$3220 99.9972345 $4132 99.9999991
$3641 99.9872355 $4332 99.9823156
$3044 0.0010000 $4511 0.0010000

2. The next step would be to merge the results of all four shifts using the Percentiles of Raw
Score for ranking.

ROLL NO TOTAL

S$1015 100.0000000

S2050 100.0000000

$2035 100.0000000 Ties
S3105 100.0000000

S4240 100.0000000

S4132 99.9999991

S3220 99.9972345

S$1020 99.9872385

S2020 99.9872355

> Ties

S3641 99.9872355

51050 99.9872345

S4332 99.9823156

S1001 0.0010000

S2041 0.0010000 -

Ties

S3044 0.0010000

S4511 0.0010000
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3. Please note that some candidates have the same Percentile Scores (Ties). In the next step, the
ties would be resolved by considering the "Date of Birth (Age)" or any other criteria as

determined by the exam conducting authority.

ROLL NO TOTAL AGE REMARKS
B2035 100.0000000, 02/03/1999
ALGLS 100, 000  12/05/1899 Since Total Percentiles are equal,
-0000 /05/ |laccording to Date of Birth, age of
B2050 100.0000000 01/02/2000 B2035 > A1015 > B2050 > C3105 >
C3105
C3105 100.0000000 13/08/2000
D4240 100.0000000]  01/10/2001
D4132 99.9999991
Total Percentile D4132 > C3220 >
C3220 99.9972345 A1020
A1020 99.9872385
C3641 99.9872355 02/09/2000 Since Total Percentiles are equal,
according to Date of Birth, age of
B2020 99.9872355| 12/05/2001 [C3641>B2020
A1050 99.9872345
Total Percentile A1050 > D4332
D4332 99.9823156
Ans Ansd L Y7 ) Ans
A1001 0.0010000( 22/01/2000
Since Total Percentiles are equal,
SR 0.0020000 03/02/2000 |laccording to Date of Birth, age of
C3044 0.0010000 30/10/2001 (A1001 > B2041 > C3044 > D4511
D4511 0.0010000( 20/11/2001

4. The Final Ranking / Merit will get compiled as follows after resolving ties:

; ° C RANK ROLL NO

1 B2035 10 B2020
2 A1015 11 A1050
= B2050 12 D4332
4 C3105 % 6

o D4240

6 D4132 399997 A1001
7 C3220 399998 B2041
8 A1020 399999 C3044
9 C3641 400000 D4511
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IAREIAT, AT, AR ST TSt N T TRIeT Ga-HiyTaTor
JISAT - 2024-25 ST ATATAT SheledT ATATIS U9 T et
FTIRUATT TR ATATHTOT Ufshar (Normalization Procedure)

WIS Ufeha:
e WhIS (Percentile Score): &1 TTshaT TehTUeT 37Teeh BT /batch Het

aCn (2}

ST SheTeaT AHI YAl TXIeTiaTat (et Tiet SHeied SHHRIAT U]
A=A OTTTS! ST STTeo.

«  THITES ThISR B TRISTAT SoieT Halie HTUeT ShHnRT 219

- THoToIedT ot TUiaR qRiemeii=an Tedsh Terdmat (RTe) 100 o 0 9= @home
el ST,

o IS ThIS T GLeld 1 TaTeTee Zaphai =T sSRis fehall @Tedl (FHT Tohell S 1
ThH13TY) THesaoTo SRS Zakhalil 9.

. TS, U TTeT=T (19 STl (Haied ThiaRR) 100 = THH ZFharl Haet, 5t
T AR,

- [ared ST Haid HH ThHI3R T HBTele! 0T A SFhaRid SR hel
SIGIGE

qHerseT @S (PERCENTILE SCORE) & Whgwmcid  @marigd T
(NORMALISED SCORE) 3TT&d.

ST THae ZTHUATATST ATIUT WHTT ThHIT UTS ST TR SRS ITeraT (ties)
FHHT HITATHTST TSI RIS 7 TIMIT RATER AT AT

TOTIRTEAT AT T, Tedeh URIeTT/IuR Rl Sedeh T /batch Wellet Fated T[0T ZaRha]
TEUST HIGHEST PERCENTILE SCORE (THGaTeTodT Heb/aRaideh T[UTiehe fohall Zaeriiche gotel

HET) 100 7T, &l SWfed i A1 W™ 100% IHSARIAT Halteeh This/ZaT]

SRIeRI feRal et sHHt 70T fHesaet ST,

IR, T 1 7, Taed WhisR 80% 31U T 2 7, gared @hisR 82%
AT 9T 3 7, Heltedl ThiISR 78% THATH; 31107 [¥T9e 4 7o, Felted @hisR 79%
Y, Hel Feltee @hisR e Geirdd Te/RRERE 100 THEeter Q= shol STl

ATl HHT TUTTET PERCENTILE SCORE BT URIET S eiodT TehvT SHIAR e GaR 10, THS,
1,00,000 feremeziHT wep R wiiet fel 3T ST & Te/RTae el Taree @hisi (A)
80/100 (80%) 3TT& 30T Halld ! WhIaR (B) 1/100 (1%) 3T, SR 2R hIUTcATE ] SHSSTRICAT
A TohaTT B ATUeh! T 70T fHestel ARI, T A T TH2Tee! RIS 8T 217 WhISK, 100 3T
[FROT Tl TSRl 100% ISR A 24T SRIRIA TohalT et st 7701 ffesaet 3Ted]. B =
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TR WhISR, Talid A ISR, 0.001 3T RO TGRSR {hal Mg FHHI
TSI SHIARTE ZFhat 0.001 = [(1/100000) *100] ST,

SR UG (C) a7 IHARTAT A WRE H5 AT 707 (SATAT Y& el T[0T TSRl raw score TEot
3TTE) ST, T A TMUT C ol qderget WhisR 100 ST, TTeHT0! $8=4T SHERTC
(D) & B AT SRISK sl 0T 3TFtet % B 3AT0T D AT JEHT 0.002 = [(2/100000) *100]
T JHEA WhISR 3T, WS STMIHRET TR &1 Tie (SR percentile score
G 3T

I dF 2 & 100 SHIAR 3THciodT Tehl RTHHE /T samed Huard JfTeiedl TRieid

o ¢

[Hodloded] UH gt Sonl 3™ ENGEMETGIE

1. SR 3UIER A o7 THIRA ThISR 100 3THA, T IR eiedn Faft, worst 200%
SUIARIAT A =T SRIeRIA fehall et FHHT 107 fHasdet o1ed & grad el ST, qd
SHITTATE! SHEART SHIAR A el ST T[0T fHesalet ARId & @it A grad i

2. SR IUGAR B 91 THEH WhISR 90 T8, T T ¢ IeIfad i el feeredr 90%
SHIARIA! IHEAR B WHIOT THH fehall B UedT ShHt 707 fHezael oTed; 70T SR
USRI B U1 SR T[0T fyezaet 31T,

3., S IUIAR E O THIRA @hIsR 1 38, R o & grad d shi Gl getean
SUGRIUh! TshTE! SHEERT E THTOT GH fShall E UeTl shHi 07 ffcseretet Teid; a8
et feiedT IR Te SHGARIT E AT IHSARTIRAT SR T[0T Hesdet 311,

TrETT AT U UR/faug ot 3w firens) Ao shetean aireraret
WSRO ATHAT TTATIHTIT qATuaTd dget:

Tcdeh RTHRETE /batch WST TRteT= FaRTT ETet TWREUTd TR shet STIier:
« Hedl THISR (Raw Score) U SHEARTEAT fHaoiet arafas® T
* TFhaRT (Percentile Score)

TFharY (Percentile) 7 SITIT TAFGAT WISl STEeT.

» 3| TUERH AR & FHoea ISR (Raw Score) TAT TR G THRRAR S
TH13ER (Percentile Score TX) LT 3THA. (Heell WhiR &1 SHEAR &g B!
O 3TE). | RTHAre! THerEet WhIsR UhAd shol STTiel STUT Tehax TuTerT ATR/XTehTT
THSIUATHIE! SHaeT Shedl STTEat.

* Percentile Score T&H SRIERIH! TR IFATAT TAFHR HIST IHSARTCT 3o I et
e, THeTEe WhieR a9 o (SFAARIE) Tl SIS’ (tie) HeITH, SHIETRTEAT ATaTd el
qfEeT STeRT=ard ST JUTHTCIAIeT el ShuTFAR TOTsRH e shetl STTea.
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3SgYUT:

ThTEH 21Teeh RTRme SaeiodT Uhd Ui/ faws STaeled udier faem .

ST “T> € UehT SHEART [Hegaetel shee T[0T 3TTRd:

TFRART (Percentile Score)= 100 X “T” 98T &I fham THIA 70T Sreiean =1
TR/ fTreaeter SHeart= ST

T T ATTAR T [Temeaiamst wa 1 Tarant wieet S
Tt Hferm/Afve=an ufthier weat-e ferer gt vtEe o

1. TEYE T kT URIRT 4 RTweHe TS Shed! 311 31107 edkeh RTRTed 1,00,000 IHSAR
3R, TR ST ZFRART UM (Percentile Calculation) JEITTHTT B8t

PERCENTILE : SHIFT 1 PERCENTILE : SHIFT 2

ROLL NO TOTAL ROLL NO
$1015 100.0000000 $2050
$1020 99.9872385 $2035
$1050 99.9872345 $2020
$1001 0.0010000 S2041

PERCENTILE : SHIFT 3

ROLLNO TOTAL ROLLNO
$3105 100.0000000 $4240
$3220 99.9972345 $4132
$3641 99.9872355 $4332

| | |
4 \4 \4

53044 0.0010000 54511

TOTAL
100.0000000
100.0000000

99.9872355

\4

0.0010000

PERCENTILE : SHIFT 4

TOTAL

100.0000000
99.9999991

99.9823156

0.0010000
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(AW aY

o o 0 o
2. RISl UTERI TS TOTHRY TR TT TR ShRUATHIS! ZoRhaRIET aTiR s IRE! T
RO YEICToHTOT Uk Shet ST,

ROLL NO TOTAL

51015 100.0000000

52050 100.0000000

52035 100.0000000 Ti es

53105 100.0000000

sSa4240 100.0000000

54132 99.9999991

53220 99.9972345

51020 99.9872385

52020 99.9872355 .
Ties

S3641 99.9872355

51050 99.9872345

54332 99.9823156

51001 0.0010000

52041 D.Dﬂlﬂﬂﬂﬂf Ti es

53044 0.0010000

S4511 0.0010000

3. AT IR ST i hTa! SHSARI THTES ThiSR THM (ties) M. el TR,
"STHARIG ()" Toha IRieTT STTAifST SheuTr=4T MTEeRoT el shetedT a3 hivTee]

FTeR e TR et SIS bR ] UlIgenH ldl “‘llét’i. NESSSH US| "STARIE

Page 4 of 5



)" 1 R SR el TR

REMARKS

Since Total Percentiles are equal,
according to Date of Birth, age of
B2035 > A1015 > B2050 > C3105 >
C3105

Total Percentile D4132 > C3220 »
Al020

Since Total Percentiles are equal,
according to Date of Birth, age of
C3641 > B2020

Total Percentile A1050 > D4332

v

ROLL NO TOTAL AGE
B2035 100.0000000( 02/03/1999
Al1015 100.0000000 12/05/1999
B2050 100.0000000| 01/02/2000
C3105 100.0000000( 13/08/2000
D4240 100.0000000| 01/10/2001
D4132 99.9999991
C3220 99.9972345
A1020 99.9872385
C3641 99.9872355| 02/09/2000
B2020 99.9872355| 12/05/2001
A1050 99.9872345
D4332 99.9823156
! ! !

v v v
Al1001 0.0010000( 22/01/2000
B2041 0.0010000( 03/02/2000
C3044 0.0010000( 30/10/2001
D4511 0.0010000( 20/11/2001

Since Total Percentiles are equal,
according to Date of Birth, age of
A1001 > E2041 > C3044 > DA511

¥, STIMIHR RIS (ties) Teeie FHRIRI0T ShedeaR ifdd shHat / oTardT (Merit List)

QO LI o [a) <
WIAHAHIVT Aenleid enet] slsl:

RANK ROLL NO

B2035

A1015

B2050

C3105

D4240

D4132

C3220

A1020

LN |A|R[W|N|E2

C3641

RANK ROLL NO
10 B2020
11 A1050
12 D4332
1 1
v v
399997 Al1001
399998 B2041
399999 C3044
400000 D4511
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